Table 4.1
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Cuze (1):8 — ot 2 3 0. The general solution is

yla) = a8 |,
where

v (1= )/ —a-+2), p=2/8—ald), vp=(1-—a)2

two particulsr solutions, corvesponding to %, and to be selected aceording to
¥ atd p, ore shawn below.

¥ y Particular solutions
Weal Fractional J. gy (or VL)
R Foro or integer I Y
) Fractionnl I I... (or K.}
Imoginary , : .
Zero or integer I, K

Cuse (i): 8 = o+ 2 = 0, The general solution is
yx) = a';
two particulsr soluiions, to be determined according fo the roots of
2 — e vE =0,

are shown below,

(v — 1)2 — gy Partienlar solutiong
Pogitive x' z'2
Yero ol ?lnz
Negative 2 cos (e ln x) at sin (e In )

Here |
ri,2 = 211 — o) & [« — 12 — 4y,
6 = 1 — aj, € = MarE — (o — 1?12,




